ENGLISH CULTURE : NOTES

Class 1
1) Pre-history

2) Romans
3) Anglo-Saxon vs Vikings

4) Norman Invasion


1) Prehistory
The Neanderthals

· They are still “alive”, we are them (in our DNA). They were seen as a stupid, brutish species, little more intelligent than the apes. 
· Neanderthals disappeared around 30 000 BC. The last place where they lived: near Gibraltar. They lost the competition for food (not the only reason(watch the documentaries)
· Successors: homo sapiens. People believed Homo sapiens were just a bunch of murderers and Neanderthals were beaten into extinction. But there’s Neanderthal DNA in most modern Homo sapiens from Europe, the Middle East and Asia. (but not from  Africa: they didn’t meet.) As a result, Neanderthals most probably lived alongside Homo sapiens and were assimilated rather than driven to extinction.
· Neanderthals were present in Britain but not much, because of the Ice Age: ice covered most of northern  Europe, 2km high. It was made of water, it came from oceans. The sea level was lower so there was a  land bridge where we now have the Channel. We didn’t find many signs of Neanderthals’ presence in England partly because they were submerged with the rising sea levels at the end of the Ice Age).

	“Dogger banks”: One of the famous sand banks. (Dogger Bank is a large sandbank in a shallow area of the North Sea about 100 kilometres off the east coast of England. During the last ice age the bank was part of a large landmass connecting Europe and the British Isles, now known as Doggerland.)


· Homo sapiens: you had the basic Homo-Sapiens population (then came the Celts who eliminated or assimilated them). 
· Traces of the Celts: still present in some regions of Britany, Ireland, Wales, Scotland, Cornwall.
· 1st century BC: Celtic and Germanic tribes. Celts( Celtic language, then came the Germanic tribes.
	Cunobelin : King in pre-Roman Britain
Ruler of a large area of south eastern Britain from about AD 10 to 42. He is the Cymbeline in William Shakespeare's play of the same name, although the play's fanciful plot bears no relation to the events in Cunobelinus' career. He made Camulodunum (Colchester) his capital and the seat of his mint. His power and influence were extensively felt in Britain. Cunobelin was leading Celts and Germanic tribes. At  that stage, the language of those tribes still was the  common Germanic, a language with declensions : nominative, genitive and dative, which was derived from the great ancestor, Indo-European.


· But from the first century AD, we are going to have a split of Common Germanic into three branches  North Germanic, East Germanic and West Germanic (West Germanic including German, old English, old Dutch and a whole series of unwritten dialects).
	Old English: As opposed to old French, there are many more texts. From the 7th and the 8th century we start having texts in old English whereas we don’t have much in old French. 
What kind of language was old English in the first millennium (100 until 1000)?
Like in German they had strong and weak declensions (=variation of the form of a noun, pronoun, or adjective, by which its grammatical case, number, and gender are identified).
 They had plurals like in Latin - example: stone (modern Eng.) ( sing: stān ( plur: stānas  ( old Eng.)
and at that time 
they had already started simplifying things relative to Latin, nominative and accusative were the same in many cases. 


2) Romans (44AD->409)
· The Romans and Julius Caesar first reached Britain in 55 and 54 AD but were unable to defeat conclusively Cassivellaunus, the  leader of an alliance of British tribes at that time. However, Rome was soon to enjoy a

·  period of absolute dominance. One century later Cassivellaunus’ Celtic and Germanic coalition is going to collapse and the Romans invade Britain  with another Emperor (Claudius) (even if technically Caesar wasn’t an Emperor). In 44 AD, almost one century later, Britain is really conquered by the Romans. The real victory takes place in a place that the Romans called Camulodunum. The Romans were too strong and it was a quick defeat. Camulodunum became the site of the first Roman capital of Britain. Camulodunum is the current Colchester.
· Because of the harsh Roman rule, a rebellion occurred involving Queen  Boudicca and the Iceni, a strong tribe (Boudicca was the Celtic Queen of the Iceni tribe of modern-day East Anglia, Britain, who led a revolt against Rome in 60/61 CE. ... She mounted a revolt against Rome which left the ancient Roman cities of Camulodunum, Londinium and Verulamium in ruins). 
· During that rebellion, Colonia Claudia Victricensis (now simply, Colchester) was burned and razed to the ground in 60 AD, during  emperor Nero’s reign. However, as the Romans were still at the peak of their power, the Iceni were eventually defeated and Boudicca got killed. 
· LEGACY: (Boudicca  as symbol: statue of a woman riding a chariot and holding a spear,  typical Brittonic military gear. In the 19th century people decided to use her as a symbol of the British fighting spirit. 

Very concrete symbol of the Roman presence in Britain: 

· Hadrian’s Wall and its northern twin the Antonine Wall . Hadrian’s Wall started being built in 122 AD during the reign of  Emperor Hadrian. It went from Carlisle to Newcastle. They built it to protect themselves from invasions from the north (Scotland). Then they decided to build a road to go from East to West (Newcastle to Carlisle), they followed Hadrian’s Wall. Every 5 or 10 miles you had a small castle and one of those was Vindolanda (one of the best preserved). There was an area where the ground prevented the decay of substances, so in Vindolanda they found a huge stock of letters. We found those letters from women (probably officers’ wives or so) and probably the first extant example of a woman’s handwriting. 
The Roman period: everything was fine except that, from the 4th and 5th century Rome was constantly in trouble, constantly invaded by “horrible” tribes. In 409  we can imagine a great scene with the last Roman legion leaving and at that time the Romano-British are left alone. Roman are gone.
3) Anglo-Saxon (AS) vs Vikings
5th century( 11th in 1066: Tug of war between Anglo-Saxons and the Vikings. 
· The AS = mix of the debris of the Romano-British culture + new tribes. 
· The Saxons = the Angles, the Jutes, Germanic tribes.
· The Vikings = from Scandinavia (Norway, Denmark and Sweden). 
· Typically for the period, the body of one of the first Christian British saints St Cuthbert, had to be carried for 7 years in order to avoid the Vikings.

What did the Vikings leave behind? 
· Creation of a city (centre of Viking influence): York, North West coast of England, in Lindisfarne. 
· Vikings left their mark on Britain in other ways too, such as language, lots of familiar English words originally came from the Vikings' Norse language. Examples are 'husband', 'egg', 'law' and 'knife'.
Class 2
Middle-Ages: AS >< Vikings

England and the British isle were weak and you had two Germanic tribes vying for control, the only difference was the language. They were all Barbarians. The Vikings spoke Scandinavian whereas the Anglo-Saxons spoke a western Germanic. 
The English Middle Ages (400(1066) is basically a fight between two kinds of Germanic tribes: Northern Germanics >< Vikings and the Anglo-Saxons. 
Fragmentation, re-Christianisation and important Saints

· The Anglo-Saxons start with fragmentation, at the beginning it is a very fragmented state with lots of kingdoms until finally some regions immerged and one those regions was Mercia (=the current English Midlands). 
· Re-Christianization: At the end of the Roman presence, AS were Christianized. But then new Germanic, fresh Germanic tribes come in, they are not, so you have to re-Christianise them. They are re-Christianised with people coming from Ireland. And one of those famous early “re-Christianisers” of Scotland-England is for instance Saint-Columba. There’s also Cuthbert who became Saint Cuthbert (his body was carried for 7 years by monks fleeing from the Vikings). 

· One famous Christian place is Lindisfarne (or Holy Island of Lindisfarne). Where? On the east coast of England, very far north. There was a monastery there too. Cuthbert lived in Lindisfarne as a hermit (person who lives in seclusion from society). Finally he died and he became a saint.

· The last fundamental Saint: Alcuin. He was a cleric from York. Around 800, Charlemagne calls for Alcuin (to be some sort of minister of education and culture). 
The Saxon Kings:

In England there were high points and low points.

The high point( the most famous Saxon king: Alfred. (King of Wessex from 871 to 899)
	N.B name of the counties around London? If you live in the east, it’s called Essex. West=Wessex. North=Northex. South=Sussex. Middle=Middlesex


How did Alfred become King? 
1) He managed to control, well his father managed to control Mercia and Wessex. Alfred became King of Wessex at his father’s death.
2) His father sent him on an Erasmus program to learn things. He sent him to Rome and there he met the Pope. 
3) On top of that, Alfred was a bookworm, he read Latin. And with people like Alcuin, he’s going to become a fierce translator (Latin(English). He decides that the knowledge of Latin among the clergy is so bad, that it is stupid and so we need English texts (that’s what he said). He launches a massive translation effort, so contrary to France, we have an enormous number of English texts (translated around that time). 
4) He fought against the Vikings, lost a few times and finally defeats them. 

That’s one of the peaks of Saxon kings. And sometimes he is also considered as the most Roman of them because: when he went to Rome, he realized how big, strong and stable the Roman Empire was. So like Charlemagne, he’s going to try to stabilize the country.
 Alfred dies in 899. Conclusion: On the one hand he’s Saxon by keeping his Saxon customs and organization. But because he’s been to Rome and he’s read so much in Latin, he dreamt of reorganizing that stable roman system, you can consider him as a roman King.
The low point( Ethelred (Death 1016)
One of the lowest point was Ethelred. He was an ineffectual ruler who failed to prevent the Danes from overrunning England. Nearly all of the country was ravaged, and Ethelred’s efforts to buy peace only made the invaders more rapacious.

Ethel=the noble; red=reason; his name meant the noble reason. The joke at the time is that he was the one with the noble ideas but still he did not have the good ideas. His name was finally transformed to (historical joke) the Unready. “Ethelred the Unready” became a joke, but in fact it was a mistranslation of the Old English word “unræd”. A twist on his name Ethelred. 
Who will be the king?
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Unfortunately Edward the confessor dies without an heir. Who is going to become king?
· Harald Hardrada? (King of Norway)
· Harold Godwinson?
· William of Normandy? (normandy(normans(north(viking)
We have 3 candidates. Edward the confessor had also decided to appoint William, he was his preferred choice. Except that he’s in Normandy. On the other hand there is a strong man: Harold. At that time they were two regions (the Vikings in the north, the English in the South). William was a third generation Viking (Vikings installed in France). Harold was Saxon. 
Because succession was a question of who’s the strongest, the English nobility decides that Harold is the best. There’s going to be a battle between Harold and William. The absolute anecdote is that in 1066 we are going to have two invasions, the Danes plus Harold’s stupid brother Tostig. There was a first invasion from the North. There was a landing in 1066 of Harald Hardrada and Tostig, and Harold managed to assemble an army in 4 days and smashed his brother and the Danes. The battle took place at the Village of Stamford Bridge. Two days later he realizes that William has landed in the south coast. To make a long story short, Harold dies.
The Saxon nobility is out. The Saxon army consisted  of huscarls, those were the real professional soldiers fighting with Harold from the nobility. And then there was a non-professional army of peasants: Fyrd. Still they were all damaged. At the battle of Hastings, the whole military infrastructure of the Saxons disappears.
William the conqueror spent the next 20 years stabilizing the country. (It is going to be very brutal, cities are going to be burned). When you want to stabilize a country you need sons and William was lucky, he had four children:
-Robert Curthose

-William Rufus

-Adela

-Henry (nickname Beauclerc)

William eliminated the Saxon military infrastructure but still it doesn’t mean that he’s going to have an easy life. He still more or less remembered what the Romans managed to do: they were organized. So in his finals years he decides he needs better control. A certain historian describes William as the first Data base King. The data base meant a fantastic inventory. A bit like Charlemagne, he decided to have an inventory of all the things he had in his country. And that is the famous “Domesday Book” ((list of all the areas in England, with what they owned).
William dies in 1087. His 3 sons are going to fight. Robert Curthose ends up in prison and dies there (Who put him in prison? His brother of course). William Rufus is going to die by “mistake” while hunting, (and who was smiling on the day of that accident? His brother). So Henry (the First) is the only one left.
Class 3
We are in 1087. In those years quite a lot depended on your military power and your credibility as a military leader. When William the first dies there is a very ugly competition with his 3 sons: Robert Curthose, William Rufus and Henry Beauclerc. Robert Curthose was put in prison by his brother, and will die in prison. William was hit by an arrow during a hunt, by “mistake”. 

Henry the 1st won’t be such a bad king. Very good at collecting taxes. He was literate, bilingual and clever, his wife was Saxon. Thankfully he had a son who could him to the throne (William Aetheling. 
But then the following “dark episode” happened: La Blanche Nef/ The White Ship

(The White Ship (French: la Blanche-Nef) was a vessel that sank in the English Channel near the Normandy coast of Barfleur, on 25 November 1120. Those who drowned included William Aethelin, the only surviving legitimate son and heir of King Henry I of England. William Adelin's death led to a succession crisis and a period of civil war in England known as the Anarchy.
Big problem: he was Henry I’s only son. In 1135 Henry dies, important period of crisis. There was plan B: William’s sister, Matilda. Plan C: Adela, Henry’s sister, who had a son called Stephen. 
From that moment on we have a very ugly conflict, Stephen is the king of England (from 1135 to 1154). Stephen's reign was marked by the Anarchy, a civil war (with Stephen not being strong enough to get total control). 

· In that period of crisis,  a book was written: “Historia Regum Britanniae”, written by Geoffrey of Monmouth (complete fantasy). A text that is going to create a national myth. Greeks had a national myth “the Odyssey”, the Romans  had their own version with the “Aeneid” (with Romulus). So Geoffrey of Monmouth tried to create a myth of foundation with “Historia Regum Britanniae”. Genealogical story, novel based on vague memories of classical word from antiquity, plus brief stories told from Celtic passed and embellished memories of Arthur, Celtic prince. It is the final written version and best of existing stories that were told in the oral traditions. Storyline: Brutus leaves Italy and so arrives in England and there starts the story.
Excalibur, Arthur and Merlin. In that book you have the story of King “Leir” (Lear in Shakespeare). Origin of one of Shakespeare’s best tragedies. Story of king Leir: he doesn’t have a son but 3 daughters: Gonerill, Regan, Cordelia. Leir decides to divide the country in 3, so his greedy daughters refuse to give him hospitality, Leir ends up alone. 2 first daughters die, Cordelia wins her throne, but no longer after is assassinated.
Then finally he will die (in 1154). Matilda had two husbands, one with whom she had a son called Henry (later Hnery II). When Steven dies, big sigh of relief( Henry II becomes king. Henry II is going to have sons: Richard Lionheart (nickname: Ivanhoe) and John Lackland (appears in Robin Hood). The 2 big events of their reigns : the assassination of Thomas Becket (1189) and the Magna Carta adventure. (1215)…
Class 4
· Norman Britain or Plantagenet Britain (name of the line of kings which start in 1154 with Henri II and ends in 1485 with Richard III).
We are in trying to visualize Plantagenet Britain which is framed by 2 important kings, on the one hand Henry II and on the other hand Richard the 3rd. Henry II dies in 1189. 
· Finally there is a strong King: Henry II. Why is he a strong king? ( “The less for god, the better” that’s going to be one of his hobbies: to limit the power of the church. How? Through meetings and assemblies known as constitutions of Clarendon. Assemblies where Henry II reaches compromises to limit the power of the church. However it’s going to lead to a climax. In fact Henry is very much a Plantagenet king (speaks French and probably English) he’s going to appoint a friend (Thomas Becket), after using him as a chancellor, he’s going to appoint his friend archbishop of Canterbury. 

· Thomas becket who was supposed to be a very good friend of the king was supposed help the king reduce the power of the church. But Thomas was in favour of the Church and he refused to sign. The king became more and more annoyed. Thomas fled, lived in exile in France. The Pope tried to find a solution. Finally, in 1170 after one more refusal with the king, Thomas was assassinated in the Cathedral of Canterbury. He was decapitated. Big scandal, the Pope wasted no time in canonising Becket, turning him into a Saint. (Pilgrimage. With a wonderful shrine to venerate the Saint. So Henry II was globally an efficient king, he did what he had to do, but with that enormous scandal. As a result, there’s the running argument with the church. Years later the king accepted responsibility and was whipped by the monks.
Henry II had married Eleanor of Aquitaine. He had as many sons as he wished. But he also lost a few of them. The last two were Richard (dies 1199) and John (dies 1216). 

How does Henry II die? He dies from a wound while fighting against his son Richard. (Richard as the king of England, he was always out of England, an absentee king: fighting in France, prisoner of Austrians,…He dies childless.

(John is the next King (Reign: 1199(1216): 

-Nickname: Lackland, because he managed to lose a lot of French possessions. 

-His big enemy: Philippe Auguste. He reformed his army. That was a French victory, and a disaster for Lackland (battle of Bouvines: English><French). That’s when he lost the control of lots of proprieties in France. 
-Consequence: The barons are unhappy, they are going to rebel and force the king to sign a document: “magna carta” in 1215(63 clauses and some being more important than others. Magna Carta is confirmed in 1217, reconfirmed in 1225 and then reconfirmed in 1297.

Magna Carta

-The first element in Magna Carta is the relationship with the church. John is in a weak position (lost some battles against his barons). It Guaranties good relations with the church. The king is ready to confirm the power of the church. 
-Second element: money. One of the techniques used by John is to take advantage of the weak: example: widows of barons. He had found a system where when a baron died, there was a possibility to confiscate as much as possible. The barons did not like that too much. So you also have lots of clauses designed to protect propriety. The other thing that the king did was to (for money) regularly accuse barons of felony, and when the baron was a felon: the king confiscates the lands. The barons said: if you got a traitor, his propriety must be confiscated but not for the personal profit of the King. That’s another clause.
-Clause 28: Spoken word is not enough. You need reliable witnesses. (Most important aspect. Magna Carta is also believed and seen as the origin of “habeas corpus” (literally: you must have the body). So if you go to jail there must be a judgement. Principe: the king wants to see the accused in court. Blackstone is the most important legal authority in the 18 century. He said (about Magna Carta) the king is at all times entitled to have an account while the liberty of any of his subjects is retrained.
-Conclusions: with Magna Cart, the king is in “trouble”, has to be very polite with the church and polite with the barons (concerning money). (Good thing of Magna Carta. That makes England the first country, most advanced one, to establish justice. What the clause 29 says: the king as a fountain of justice, is the guarantor of a fair judicial system. Where you can only go to jail after a trial.
Class 5 and 6
· Conclusions on Magna Carta: concessions to the church, to the barons. The King won’t cheat the baron widows no more + Remembrance of a unified State with a guaranteed legal system. Insisting on a jury of peers + Law of the land. Magna Carta: Not a constitution, just a number of principles.

In later centuries an expression is going to take from: “according to the English law and equity”. It means decisions must be fair and honest. 
· Equity: you need a remedy. If you apply the law strictly(unfair treatment. You can’t blindly apply principles.

We need a higher court who revises the other decisions, who thinks. The judge needs to apply a higher set of principles, to review and modify by the law of court: concept of “judge made law” independence of the law. There’s the development a new legal principle. The irony: English law is usually described as common law (one law for everybody).

· On the one hand Magna Carta: shows political weakness of the king. On the other hand it is also a document that says “we want a law of the land, and only the king can provide that”.

The next Kings we’re going to discuss: Henry 5th and then Richard 3rd.

The 13th century= century of consolidation (kings wanted to feel secure in their borders, (keeping the neighbours quiet) sometimes with success, sometimes without.

· The Welsh (from Wales) were the victims. Any Welsh desire of independence is squashed. The Welsh are unhappy, they want a prince.  ( 1280: Llywelyn (was a Prince of Gwynedd in north Wales and eventually de facto ruler over most of Wales. By a combination of war and diplomacy he dominated Wales for 40 years.)
· The Scots were hard to quieten. 2 big leaders: William Wallace, Robert the Bruce. Two battles that are part of Scottish identity: Stirling Bridge in 1297(Wallace beats English there). Bannockburn in 1314 (where Robert the Bruce beats the English).

“The Calamitous 14th Century” 

Evolution: English population (in millions of inhabitants)
	Year
	Millions of inhabitants

	1000
	1.6

	1100
	1.8

	1200
	2.3

	1300
	3

	1350
	2.4


(We have a nice evolution. Hick-up: going from 3 million people to 2.4.

Reasons: The catastrophic 14th century.

1) Famine
2) 1337: beginning of 100 years’ war. Awful series of battled including: Slrys (1340), Crécy (1346, French lost), Poitiers (1356, French lost), Du Guesclin’s successful guerrilla tactics in the second half of the 14th century (French territorial gains) , Azincourt (1415, French catastrophic defeat), Bougé (1421, French victory), Siege of Orleans  (1426- French victory), Castillon (1453). Finally the British had to give up. The French win.
100 years’ war: They were fighting for territories. The objective was for the English to get a part of France. 

3) The Plague
1347, a ship arrives in Sicily from the Middle-East, all the borders are dead, why? The Plague (1348) (nickname: Black Death, cos of the internal bleeding and sweating, dead blood turned black, after a couple of days you died). Travelled all the way to the Adriatic coast? In some areas 40 to 70 percent of the inhabitants died. We had to understand the speed of contamination. At first we though the contaminating agent were rats. That’s what we thought for a long time. Rats may have been involved but by analysing victims’ teeth we determined it was a pneumonic plague. So rats with their fleas weren’t the real reason.

Its economic impact. Since people die, they can’t work (main activity in those years: agriculture, if nobody’s there to work in that sector, there’s a lack of food, because of no food production). There were some lucky survivors, they inherited whatever the victims had. So big concentration of wealth for some groups of people. For some people it was a fantastic opportunity. 

-Negative consequences: famine. 

-Positive consequences: concentration of wealth. 

-Law of supply and demand:

What is missing after 1347? Workers. That’s bad news for the ones who have to hire and good news for the workers (salary is going up). More people realizing that if they stay in this lucky area (where there enough workers), (then there were unlucky areas with no people left), then their salaries won’t go up, in the “unlucky areas”, the salary will go up, since new workers are needed.
The rigid society of the middle age is going to crack. There will be plenty of temptations to go and seek fortune somewhere else
4)Peasants Rebellion 1381: against Richard II
The peasants rebelled because they weren’t happy with money. During the 100 years’ war, peasants are taxed, they didn’t like it one bit. It’s one big rebellion where peasants say they don’t want to pay anymore for those wars. Leader of the rebellion: Wat Tyler (a tyler: one who makes tiles). For the first time you’ve got a commoner appearing in the history. Under Richard II there was Poll tax: Tax that you pay per person (proportional to the number of people). There is a problem between the rich and the poor. 
Example: The rich man, he’s going to pay 2 groats (4pence). But the farmer is also going to pay 2 groats. Rich and poor pay the same, but it’s not fair for the poor. They’re going to send people to enforce the payment, some people will take advantage of the situation. So the peasants are going to rebel. Starting from Essex (Colchester). In the end, Wat Tyler was killed and people were caught and beheaded (punished). 
Anecdote: these people had some sort of organization, in some cases they found coded messages, summary of why they were fighting. Coded message: “John the Shepherd, sometime Saint Mary’s priest of York and now of Colchester greeteth well John Nameless (=everybody) and John the Miller (=un menier, works in a mill) and John Carter (=a marchant), Piers Ploughman (laboureur. Plough=charrue). In biddeth, Piers Ploughman go to his work in Chastise”
Basically this message mentions the commoners, peasants and not the nobles. The message is typically medieval, because these are not real people but just abstractions. One the most famous ones is Piers Ploughman= one of the 3 major literary work. 
Peasants wanted the evil society to go away, to eliminate the serves.
Battle of Agincourt

· 1415: Agincourt. A battle between Henry the 5th of England and the French. The English army was outnumbered. They were was far inferior to the French army. Henry the 5th wanted to escape the French army. But a number of circumstances helped the English enormously: 
1) The rain and the mud (it had rained a lot and that was very bad for the French because they were loaded with equipment and couldn’t move) 
2) Technology: the English manipulated the longbow (a murderous weapon)
3) The terrain was very carefully selected, the English army had positioned itself at the end of the 2 woods. 
Henry 5-Speech-Eve of Saint Crispin’s day--(Youtube
Class 7
3 big dates:

1337: beginning of the 100 years’ war (In the end, the French won the 100 year’s war)
1348: the Plague

1381: Tyler’s rebellion (under the reign of Richard II)

In this class, what we’re going to do:

Discuss the language and the literature. The 3 books we’re going to discuss are: Piers Ploughman, Sir Gewayne and the Green Knight, Canterbury Tales-Chaucer. All these works are around the 1380’s. We are in the Plantagenet England. 
11th   In the 11th century (a disaster for the Anglo-Saxon elite and literature >< French elite is imposed on an Anglo-Saxon speaking country( French dominates). 
12th   In the 12th century (Geoffrey of Monmouth‘s book, wanted to invent an impressive genealogy). 
13th   We’ll have to wait until the 13th century to see literature emerging, there are French models for a French aristocracy. Still in the 13th century, we are going to have 2 works written in Middle English. But these works are still far from being innovative. –“Brut” (The Brut is 16,095 lines long and narrates the history of Britain) and “Havelok the Dane” (Havelok is the second oldest surviving romance written in English)
What is Middle English? 
Everything you have before the Great Vowel Shift, kicks in around 1500. Which vowels? The long ones (the short vowels remain intact). In terms of vocab: 3 different vocab (Anglo-Saxon ex: kingly----French ex: royal ----Latin ex: Regal). You have doublets, pairs (Ox-beef. Sheep: mutton. Calf-veal. House-mansion). We also have a transformation of grammar: the inflections are weakened. Endings are weakened, reduced to –ES. Some plural in –EN (brother-brethren). So there’s a massive simplification.
So when we encounter Medieval English, it is English from before the Great Vowel Shift.

What is the Great Vowel Shift? http://sites.fas.harvard.edu/~chaucer/vowels.html
All the consonants were pronounced before the Great Vowel Shift.
Prologue to Piers Plowman A-text: William Langland in Middle English: Youtube (before the vowel shift, this is how English sounded like)
Class 8
· When English literature really emerges then it is the end of 14th century. The 1st work that was discovered: Piers the Plowman (in Middle English, end of 14th).

· The three works we are going to discover -Sir Gawayn, Canterbury tales, piers the Plowman- were written around the same time. 
· These three works correspond to the 3 devils of medieval society (=the 3 social classes):
-The plowman =(The lower classes of society, peasants) (Very Christian)
-Sir Gawayn: he’s a noble: =(noble class) (courtly love)
-Canterbury tales: =(the middle classes)
Both Piers the Plowman and Sir Gawayn= Alliterative (with alliterations) poetry, unrhymed.
(Piers the Plowman (the Christ) and the simple man, Will, are confronted with the difficulties of live (which will be absolute abstractions). Characters are allegories: 7 deadly sins, hunger, conscious, beauty. Typical of Middle age. Confronted with all these characters, difficulties, there is a bad guy (his name is False). Hunger will help Will to work, problem is once he has eaten his fill, Hunger doesn’t help him work anymore. So Piers helps will. 
(Sir Gawayn is a text from 1380, revolving around King Arthur. Is it original? No, because around 1180 you had something in France called “Chrétien de Troyes” who already wrote all those stories.
The green knight comes to the court, he has a branch of wholly. What’s going to happen: the green knight wants to test the Knights of the Round Table. 
You have an excellent description of nature, for the first time.
Class 9: Today’s program: finish the literary flourish at the end of the 14th century, so that we can conclude the Plantagenet era that ends in 1485.
We have discussed Piers the Plowman and Sir Gawain. 

Now we have the Canterbury Tales: What educated people of the nobility have to say about the middle class.

· Written by a noble man, a man of the court: Chaucer (1st author who’s relatively well known). Is he a radical innovator? No.  But Chaucer is still very important. He used Middle English. 
	Another book which has striking similarities to Canterbury Tales(“Decameron” written by Boccaccio: The book is structured as a frame story containing 100 tales told by a group of seven young women and three young men sheltering in a secluded villa just outside Florence to escape the Black Death, which was afflicting the city. 


· Humanism and the psychology: what’s remarkable in the Canterbury Tales. Chaucer deals with medieval English society with irony, but also in a quite sympathetic eye (Nobody’s perfect but he’s understanding). Chaucer is talking about reality unlike the other two books.
· Why are they called Canterbury Tales? Canterbury is a cathedral. The Canterbury Tales are pilgrims of 30, on their way to Canterbury. They stop at an inn and there’s the host:” I offer you the meal if all 30 pilgrims tell a story”. A whole series of people are going to tell a story. The Canterbury Tales are not complete, because in the prologue is described 30 characters when there only 24 tales. The author might have died before the end.
· Handwritten, no original manuscript. (mark of snobbism). 
· French=snobbism. At one point, one of the nuns in the story is very proud that she can speak French (it was a mark of snobbism) and we are in 1380.

The Pardoner’s Tale (In the Canterbury tales): is a complex one and also shows Chaucer’s craftsmanship. The Canterbury Tales could appear as a very random order (no order), Chancer was able to avoid that, he has a logical order (it goes from horror to moral). The series go from the Physician’s tale (horror: ends with a decapitation) to the Pardoner’s Tale (more of a moral Tale). The pardoner has a moral connotation but at the same time he’s a charlatan, a crook. He gets money out of people after his sermons. The irony of this tale is that the pardoner preaches against greed. This is hypocritical, because the nature of his work is to sell indulgences on behalf of the Catholic Church. 
Wars of the Roses (WOR) ((yorkclaim document on JLfabry)
· WOR brings us a total renewal of the political elite. 
· At the end of the WOR Richard the 3rd dies (in 1485 in Bosworth Field). After that we are going to have somebody who is so vaguely connected to the Plantagenet (Tudor.

The real start of the WOR is in 1455. The seed starts with (Edward the 3rd. He had 5 sons and 5 daughters. The first son (the Black Prince) died 1 year before his father (still Black Prince has a child: Richard II).  
(Richard II was crowned when Edward died. Unfortunately, Richard II has very ambitious uncles and cousins. He mysteriously dies in prison. 
(He’s going to be replaced by Henry the 4th.
Class 10
Richard II opposed Wat Tyler. Richard II does not seem to have inspired a lot of authority and he’s going to run into trouble with Henry the 4th (nickname Bolingbroke). Henry’s going to put his cousin in jail. Henry the 4th got crowned and when he dies… ( Henry the 5th takes his place. 
He’s the winner of Azincourt (1415). He dies very quickly in the 1420’s. He leaves his young son(Henry the 6th. He’s a weak king (psychological trouble), sometimes has to be locked up. From time to time he has to be replaced by a descendant of another line: Lancaster (a Lancastrian). Henry the 6th is side-lined (not good enough).

We also have the York line which is in fact a daughter who married M.Martiner. 

So we end up having ( Richard the 3rd. He dies at the battle of Bosworth Field in 1485. (Dynastic rules had already been weakened when Henry the 4th replaced Richard II).
The final twist is that he loses against Tudor at Bosworth Field, who’s going to be crowed as Henry the 7th. He’s the beginning of the Tudor Dynasty. The Plantagenet era is over.
Richard 3rd body:

Apparently Richard 3rd’s body had been lost, but then you’ve got historians who analyses texts. In these texts they found the location of his body and they excavated it. They did the DNA testing and it was indeed Richard the 3rd. He got reburied. 
Impact of the War of Roses: From Agrarian capitalism to Industrial capitalism

· The direct impact of the War of the Roses was limited; Civilian damage. WOR impacts were limited because the princes didn’t have a lot of resources, it wasn’t a big war. 
· There is a long term impact and it has very much to do with the emergence of a new ruling class. What happened is that Henry the 7th was quite prompt to confiscate as much as he could from his opponents and because he needed money: whatever was confiscated was sold to the new ruling class. 
· They were merchants who were able to make fortune “illegally”, they were “engrossers” and they liked to corner the market: pretending that there weren’t any grains left and rose the prices up. All the merchants want is profit.

· We have a transformation of nobility. We have a redistribution to a new elite. But what are going to be the consequences? The impact is described by Sir Thomas More (in his book Utopia). Economically described.
Sir Thomas at one point in his book talks about “Sheep eating men and demolishing everything”, what does is really mean? Wool is the important economic activity at the time. At the expense of what? When you have sheep, all they have to do is graze, they need only 1 or 2 workers. Merchants who only think about profit, don’t need rural population anymore.

There is an economic transformation. In the past the revenue for the nobility was work to maintain the castle (some sort of tax). The merchants sell wool for profit. Now we are going to be confronted to market forces (competition), what they want is to extract as much as possible. A phenomenon called Enclosure is going to take place.
	Enclosure: Enclosure (old spelling: inclosure) was the legal process in England during the 18th century of enclosing a number of small landholdings to create one larger farm. Once enclosed, use of the land become restricted to the owner, and it ceased to be common land for communal use.


· The village contained a lot of common lands. There were also customary rights. Kings were ready to defend that but Enclosure gained more and more grounds. 
· Consequences: Stealing starts + exodus (to London)

· Why? Because of this mechanism where you eliminate the small peasants and the common lands.

A reserved army of labour

In Industrial capitalism: reserved labour is ready to work for peanuts. They rent the land to the highest bidder (we’ve got competition(which will lead to productivity). 

Class 11
The concept of improvement (origin(profit): agriculture for profit.
French systems (FS)><British systems (BS)
BS: there is some certainty/security, with the common law and equity: law applies to everybody. They have to rent the propriety. These people are faced with competitive pressure, that is going to encourage them to produce more (there is legal certainty). They outbid.
Who paid the price for that system? (More production and competitive pressure): The peasants, because they couldn’t play that game, they couldn’t even pay the rent and get a propriety to start with.

FS: fragmented legal system with pockets of local autonomy which meant abuse. In terms of propriety, we’ve got something different. In France, remember the Kings want to be King for the “fun life”. On the other side they are nationalistic and the king can be some sort of Christ figure. The farmer will be the owner of the land. One problem: the legal system is fragmented, there are pockets of local autonomy, means corruption and the owner of the land is not protected from a legal point of view (tax systems, crook judges,…) That is the paradox of the French system. Any surplus is accaparated. That is going to encourage the French farmers to produce less: cos if they produce more, it will be taken away.

The war of the Roses brought us to industrial capitalism.
Back to the dynasties
(Henry the 7th. Son: henry the 8th. Daughter: Margaret. 
Margaret’s side

She married a Scottish King: James the 4th (he lost the Flodden battle catastrophically in 1513). Impact of the Flodden battle in Edinburgh (nickname “Auld Reeky”), people felt insecure and decided to live inside the walls, they would build by digging inside hills. I didn’t work out, then came a population growth issue).
Margaret and James’ son became king at 17 months: (James 5th (but same mistake as his Dad: catastrophic defeat, dies in 1542 at the battle of Solway Moss), his daughter Marie Stuart becomes Queen at 6 days. 
-One tendency: Treaty of Perpetual Peace, signed with Scotland by Henry the 7th. 

-Other tendency: sticking with the Auld Alliance (The French and Scottish). + Quentin Durward (historical novel by Walter Scott).
Henry the 8th’s side

-6 sorry wives (Divorced, beheaded and died, divorced beheaded, survived)
-For more information(http://webcache.googleusercontent.com/search?q=cache:http://tudorhistory.org/wives/&gws_rd=cr&ei=WeHvVrT9MuPmywPxk7UY
-Son: Edward the 6th. 
-We have daughters: Mary Tudor, Elisabeth.
Henry the 7th
Tudor consolidation(one of the biggest elements: the total elimination of the Yorkist Claims(to achieve that we have the Star Chamber (often leads to judicial murder). Mostly helping Henry the 7th to consolidate the Tudor and to eliminate the Yorkist Claims.
Religious conflict

Catholics><protestants

Catholics

-Corruption, greed, pardoner’s tale.

-Realists, they didn’t like people who took advantage of the poor (with the interest system), but they still let that system be when it came to the rich.
· Problem of interest, interest (you pay interest when you borrowed money). Interest for: The poor, rich, merchants and princes. Interest is a problem for the poor people (they have to borrow to survive and they had higher interest rates). The church was mad at the people who took advantage of the poor. For the rich there is no problem.

Protestants
-The pardoner’s tale is a big joke(Mockery
-Radical contempt

Class 12
Religious transformation: reform
We have insisted on the ambiguity of Catholicism that was on the one hand a cause of ridicule, due to corruption (religion seen as manipulation of credulous people). On the other hand, we could say that Catholicism was very much realist (realistic attitude) in financial matters. Catholic ambiguity: Corruption><realistic

· Financial equality did not exist, (usury (main characteristic: lending money with big interest rates). God punished us so we must work, and if you get money by not doing anything it’s usury (=bad, sin).
· Who needs money? The poor. When you’re poor you are not in a position of buying something. Religion is going to be very strict about usury against the poor. 
· On the other hand you’ve got the merchants, the princes. The church is going to have specialists of canon law and they are going to find solutions whereby lending money is bad (because you don’t want people to take advantage of the poor). So we going to get in a very ambiguous situation. 
Insurance

· Church didn’t like insurance contracts either (“thinking you want to protect yourself against god? Unacceptable”)

· Insurance: you pay some money: and if there’s a disaster you get your money back

· They replaced insurance contracts by sales contract: the merchant makes the insurer sign a sales contract but there is a “clause résolutoire” (if the ship arrives safely in the port, the contract is null). But if the ship sinks before getting to port: gets his money back. Canon law invented that kind of contracts to bypass religious restrictions.
><Reactions

· Confronted with that ambiguity, some people will say no. They are going to insist on pure religion, pure faith, the Bible only. 
· So some people turned to a simple solution, going back to the fundamentals: radicalism (you believe, read the text, very simple). A historian summarised that as: sola fides, sola scriptura, sola christus. (As a reaction to the ambiguity and  to the corruption in the Catholic Church.
Focus on a simplification of religion: going back to pure Christianity
	Movement of the Lollards 
Lollardy (Lollardry, Lollardism) was a political and religious movement that existed from the mid-14th century to the English Reformation. It was initially led by John Wycliffe (author of the first translator of the Bible), a prominent theologian who was dismissed from the University of Oxford in 1381 for criticism of the Church, especially in his doctrine on the Eucharist. The Lollards' demands were primarily for reform of Western Christianity. They wanted to go back to pure Christianity(Heretics

The name, used pejoratively, derived from the Middle Dutch lollaert (“mumbler”, sound they were making when they were constantly praying).
These people were often the victims of inquisition, they were accused of heresy and were staked.

 


Example: a man called Tyndale: executed in 1536 in Vilvoorde. His goal in life was to bring the translation of the Bible to everybody. His translation of the Bible was for the first time base on the original (in Greek, not Latin). He print it in Antwerp. He was a bit of a manipulator himself, because he is there to attack the church as an institution, words like church; charity; priest can go, he talks about congregation ; love ; elders.
The irony of his death: dying in Vilvoorde and also trapped, betrayed for money. Not long after his death, the king switched to Protestantism.
Henry VIII
His son gets on the throne (Edward 6th) in 1547(dies in 1553: he was a young man and was easily influenced by people like Thomas Cranmer. It was during the short reign of Henry's son, King Edward VI, that something like real Protestantism gradually became the official religion of the country.
	Thomas Cranmer, (born July 2, 1489, England—died March 21, 1556, Oxford), the first Protestant archbishop of Canterbury (1533–56), adviser to the English kings Henry VIII and Edward VI. As archbishop, he put the English Bible in parish churches, drew up the Book of Common Prayer, and composed a litany that remains in use today. Denounced by the Catholic queen Mary I for promoting Protestantism, he was convicted of heresy and burned at the stake. He wrote the book of prayer.


When Edward 6th dies, his sister replaced him(Mary Tudor/Queen Mary I (also called Bloody Mary). She’s going to play a game with Mister Cranmer, make him confess his mistakes and then she’s going to burn him. Bloody Mary dies in 1558.
WIKI :Piers Plowman (written c. 1370–90) or Visio Willelmi de Petro Ploughman (William's Vision of Piers Plowman) is a � HYPERLINK "https://en.wikipedia.org/wiki/Middle_English" \o "Middle English" �Middle English� � HYPERLINK "https://en.wikipedia.org/wiki/Allegorical" \o "Allegorical" �allegorical� � HYPERLINK "https://en.wikipedia.org/wiki/Narrative_poem" \o "Narrative poem" �narrative poem� by � HYPERLINK "https://en.wikipedia.org/wiki/William_Langland" \o "William Langland" �William Langland�. It is written in unrhymed � HYPERLINK "https://en.wikipedia.org/wiki/Alliterative_verse" \o "Alliterative verse" �alliterative verse� divided into sections called "passus" (� HYPERLINK "https://en.wikipedia.org/wiki/Latin" \o "Latin" �Latin� for "step"). Piers is considered by many critics to be one of the greatest works of � HYPERLINK "https://en.wikipedia.org/wiki/English_literature" \o "English literature" �English literature� of the � HYPERLINK "https://en.wikipedia.org/wiki/Middle_Ages" \o "Middle Ages" �Middle Ages�, along with � HYPERLINK "https://en.wikipedia.org/wiki/Geoffrey_Chaucer" \o "Geoffrey Chaucer" �Chaucer's� � HYPERLINK "https://en.wikipedia.org/wiki/Canterbury_Tales" \o "Canterbury Tales" �Canterbury Tales� and the � HYPERLINK "https://en.wikipedia.org/wiki/Pearl_Poet" \o "Pearl Poet" �Pearl Poet�'s � HYPERLINK "https://en.wikipedia.org/wiki/Sir_Gawain_and_the_Green_Knight" \o "Sir Gawain and the Green Knight" �Sir Gawain and the Green Knight�. Piers Plowman contains the first known allusion to a literary tradition of � HYPERLINK "https://en.wikipedia.org/wiki/Robin_Hood" \o "Robin Hood" �Robin Hood� tales.


The poem—part theological allegory, part social satire—concerns the narrator's intense quest for the true � HYPERLINK "https://en.wikipedia.org/wiki/Christian" \o "Christian" �Christian� life, from the perspective of � HYPERLINK "https://en.wikipedia.org/wiki/Medieval" \o "Medieval" �medieval� � HYPERLINK "https://en.wikipedia.org/wiki/Catholicism" \o "Catholicism" �Catholicism�. This quest entails a series of dream-visions and an examination into the lives of three � HYPERLINK "https://en.wikipedia.org/wiki/Allegory" \o "Allegory" �allegorical� characters, Dowel ("Do-Well"), Dobet ("Do-Better"), and Dobest ("Do-Best"). The following summary is based on the B-version of the poem--the most widely edited and translated.








Sir Gawain and the Green Knight (� HYPERLINK "https://en.wikipedia.org/wiki/Middle_English" \o "Middle English" �Middle English�: Sir Gawayn and þe Grene Knyȝt) is a late 14th-century Middle English � HYPERLINK "https://en.wikipedia.org/wiki/Chivalric_romance" \o "Chivalric romance" �chivalric romance�. It is one of the best known Arthurian stories, with its plot combining two types of folklore motifs, the beheading game and the exchange of winnings. The Green Knight is interpreted by some as a representation of the � HYPERLINK "https://en.wikipedia.org/wiki/Green_Man" \o "Green Man" �Green Man� of folklore and by others as an allusion to Christ. Written in stanzas of � HYPERLINK "https://en.wikipedia.org/wiki/Alliterative_verse" \o "Alliterative verse" �alliterative verse�, each of which ends in a rhyming � HYPERLINK "https://en.wikipedia.org/wiki/Bob_and_wheel" \o "Bob and wheel" �bob and wheel�,� HYPERLINK "https://en.wikipedia.org/wiki/Sir_Gawain_and_the_Green_Knight" \l "cite_note-1" �[1]� it draws on � HYPERLINK "https://en.wikipedia.org/wiki/Welsh_people" \o "Welsh people" �Welsh�, Irish and English stories, as well as the French � HYPERLINK "https://en.wikipedia.org/wiki/Chivalric" \o "Chivalric" �chivalric� tradition. It is an important poem in the � HYPERLINK "https://en.wikipedia.org/wiki/Romance_(heroic_literature)" \o "Romance (heroic literature)" �romance genre�, which typically involves a hero who goes on a quest which tests his prowess, and it remains popular to this day in modern English renderings from � HYPERLINK "https://en.wikipedia.org/wiki/J._R._R._Tolkien" \o "J. R. R. Tolkien" �J. R. R. Tolkien�, � HYPERLINK "https://en.wikipedia.org/wiki/Simon_Armitage" \o "Simon Armitage" �Simon Armitage� and others, as well as through film and stage adaptations.


It describes how Sir � HYPERLINK "https://en.wikipedia.org/wiki/Gawain" \o "Gawain" �Gawain�, a knight of � HYPERLINK "https://en.wikipedia.org/wiki/King_Arthur" \o "King Arthur" �King Arthur�'s � HYPERLINK "https://en.wikipedia.org/wiki/Round_Table" \o "Round Table" �Round Table�, accepts a challenge from a mysterious "� HYPERLINK "https://en.wikipedia.org/wiki/Green_Knight" \o "Green Knight" �Green Knight�" who challenges any knight to strike him with his axe if he will take a return blow in a � HYPERLINK "https://en.wikipedia.org/wiki/Year_and_a_day_rule" \o "Year and a day rule" �year and a day�. Gawain accepts and beheads him with his blow, at which the Green Knight stands up, picks up his head and reminds Gawain of the appointed time. In his struggles to keep his bargain Gawain demonstrates � HYPERLINK "https://en.wikipedia.org/wiki/Chivalry" \o "Chivalry" �chivalry� and � HYPERLINK "https://en.wikipedia.org/wiki/Loyalty" \o "Loyalty" �loyalty� until his honour is called into question by a test involving � HYPERLINK "https://en.wikipedia.org/wiki/Lady_Bertilak" \o "Lady Bertilak" �Lady Bertilak�, the lady of the Green Knight's castle.











